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— WY RIN NINP 721N
It merely stated, ‘it is greater’; it teaches and leaves out

OVERVIEW

Our mwn mentions the difference between %53 "m%wn and "M '7 "m%wn. The X3
inferred from our mwn that it is supportive of a ruling by XaX 72 X1 "1 that there is
"M "7 mwn by 213 NIvL 3, just as there is 793 %wn by 213 Ny 1w, Otherwise
the mwn should have made this distinction as well (that there is no 'm '7 *m>wn by
213 nIvw ). The first opinion in the X773 accepted this proof. The second opinion
(the "nRT R2°X) rejected this proof, saying, ‘did the mwn state ' '7 "m%wn P2 PR
N1 KPR 990 mpwny’ (there is no difference between 'm '7 payments and 992
payments [except what is mentioned in the 71wn]); in which case you can make the
inference. However our 71wn merely said that 793 »»%wn is 72191 (more applicable)
that 'm '7 "m9wn, but it was not an exhaustive list, so we can say 7™ Xin. Our
mooIn explains the first view and discusses the 771 Xin.

= 99UT 912939 S¥a NI NNYHOD SNMNT PYUNRI PYY
The first view that brought proof from the 71wn to the view of X"ar7, did not

want to refute the proof by saying =221 Xin (as the »1X7 X>X maintains) -
- 192 PRI 1199 99W 1Y PR N9 SINDT 1197 XIYSY XY1H 9204

For that (first) view maintains that since the mw» writes '771219%', we cannot say

9921 Xin, just like we cannot say 7w Xin if the 7awn would have stated 192 PR -
- 53577 112191 172 PN 2IND 31 AN NIYWIYY 9INPT HYWYN ¥1RUN 19

And this is also indicated in the syntax of the X7 where it explained
according to the "9%X7 X2°R (that there is no proof, since); does it say ‘J°2 7°R’; it
merely states 72y’ -

- P2 PN N 9N NAINT N0 NN NPNNY “yawun
Indicating that initially (according to the WX 1wY) it was assumed that '7219%"

! This 11W% maintains that 72177 is the equivalent of "2 PX and by both we cannot utilize the 2w Xin. The reason
presumably is if the 71wn was 721 Xin there is no need for the entire introduction of ' '7 121 N7 7217, The n1wn
could have simply told us the rule that 753 is 331 by everything and "M '7 is only by w1 7w. The introduction of
121 72177 indicates that this is the only difference.

? According to the >X7 X2°X the X»3 initially (also) wanted to support X"an7 from the mwn (just like the PR W),
however it ultimately rejected the proof by differentiating between 7217 and 12 PX; indicating that (initially)
everyone assumed (even the X7 X3°X) that 77217 and 12 X are the same. If the X713 (according to the 7"X, initially)
assumed that the expression ;12177 is not exhaustive it should have simply answered 71 Xin (without stating *1np "»
"oY).
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is just like '1°2 J°R'; that the list is exhaustive.

mooIn asks on the refutation of 77w Xin (according to the 7"X):
= 2995 NNT 999W INDY MIND ON)

And if you will say; and what else did the 71wn omit that it omitted this
distinction between 995 and '™ '7 regarding a 213 nyv Ww?

N1B0IN answers:
- 995 DYWNT 1INY 539 *1NPY Y11 *HTaNa 233 MYV YT 9 U

And one can say that the 71wn omitted the case where one claimed regarding an
792K, which he found, that it was stolen, where 3''9 later derives from a 7wa7

that he pays ®25 (if he is the 213) -
- 5911 NV YNNI NYAIN BIUN NY P17 23) MYV PYV N

And if (we assume® that) if he claims a ‘theft claim’ by a deposit he does not

pay 'm '7 if the custodian was 9221 73w -
- 79aN3 233 NIYO YV 103 59N

The same would also be by 213 niyw W by an 77°aR. We therefore have two cases
where there is 992 and not '™ '7, namely by 117992 213 N v (the case of R"anM), and NIwv W
7703832 21 (the case of *™).

mpoIn offers additional cases where there is 992 but not 171 '7:
= YNNI AYAIN OIYN XY 1DY PAMYI 195201 2NV MY 9PUNY M

And additionally the 71w» omitted the cases of a partner who stole from his
partner, and partners who stole from an outsider; in both these cases there is no
payment of 'm '7 -

- (3,0 91 P92 1NIPY MNINTD

? There is an accepted understanding in the X»3 that we do not omit only one item (and mention everything else);
there has to be at least two items omitted in order to state 7™ Xin. According to the 7"X there needs to be an
additional omission in the 73wn besides not mentioning the difference between 753 and '71'7 by 213 n1ww w0.
* We know that an individual found a lost object which he was obligated to return; however the finder maintains that
it was stolen from him. It turns out that he had the object all the time. He is liable to pay 993.
> See the very bottom of &,30. However, >"1 does not rule explicitly whether he is 27 for 'm 7.
% According to the 7"X we are assuming that the 73wn disagrees with X"2m1 and maintains that there is no 'm '7 m%wn
by 17792 233 NIvY 0.
7 See n"m1 that the reason 71792 233 NIYY 3w would be Mwd from 7"17 is because initially it came to his possession in
a permissible manner (he was entrusted with it), we therefore cannot derive it from a regular 213 where it came into
his possession illegally. The same logic should also apply by 77°2%2 213 niyv 3w where it also come into his
possession legally (he found it). [However 177752 213 nivv i pays 79> for that is written in the 770 (see nwaw
1,22 [@°vdown]), and the same applies to a 77°2X2 213 NIWY W0 (see X,30) which is derived from the same 2105 as N7pPd
(which is another reason why their rules are the same by 71"17).]
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As the Xn»12 states later in our mb.s

mooIn offers an alternate solution to the initial question of 7w X7 W fn:
- 7N INY NNI N9 1999 THN 927 DN 5 92PUN 1N ONX NN YIND PNRT DIVWI91) W N

And furthermore there are those who explain that we need not be concerned if
the 71w» omits only one case (the ruling of X"2m17), since the 71wn» did not involve
itself in counting the differences between 793 and "M '7 -

$AYNNIY NYAIND Y993 259 WY 1D 92T NON
But rather it revealed to us that there are more cases of %22, than there are
cases of 'm '7.

SUMMARY

The difference between the two MwY is whether 72177 is equivalent to 172 7°X (the
WX WD) or whether it is not the same (7"X). We can say that there are additional
omissions besides the one mentioned here, or we can say that since the mwn did
not place a number on the differences the issue of 7w *X77 7Y *X» does not apply.

THINKING IT OVER

1. MpoOIN cites the xn*2 that there is no 7"7 by Ponmw.'® Seemingly this presents a
difficulty for the W& W% who maintains that 72177 is the equivalent of P2 X,
where we do not say 7% Xin, so how come the Xin omitted ]’me?!“

2. Is there any continuation between the beginning of nm»doIn and the question
which follows, 1w X7 1w m?'?

¥ The xn»72 derives it from the word 112w, which means he must slaughter the entire animal; this cannot apply to
omw (for it is only partially his). See ‘“Thinking it over’ # 1.
? See *"10 who explains that if the 71wn would make many differences between 53 and 7"17 then we can ask ™ 7
7w X7 even if he did not mention the number of differences (see previously X,’, where the X313 asks 7w 71 even
though there is no number), because since he mentioned many differences, why would he not mention one more;
however here where the n1wn mentions just one difference between 293 and 7"17, we can say that the 71wn is merely
teaching us that there can be 993 without 71"17 and he gives one example; we can understand that he need not give us
all the examples. See wn nom.
12 See footnote # 8.
' See 0"~mn and (1K) K",
' See TN wIon WK # 38.
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